

Lösungsaufgabenmodellexamen:

(1)

1. $-\ln \cos y = \frac{x^2}{2} + C \leadsto \cos y(x) = D e^{-x^2/2} \quad (D = \cos \frac{\pi}{4} = \frac{1}{\sqrt{2}})$
 $\leadsto \boxed{y(x) = \arccos \left(\frac{e^{-x^2/2}}{\sqrt{2}} \right), \quad x \geq 0.}$

2. $y'' - 4y' + 4y = (y' - 2y)' - 2(y' - 2y) = \sqrt{x} \quad / \quad z(0) = 0$
 $= z' - 2z = \sqrt{x}$

$\leadsto z(x) = e^{2x} \int_0^x e^{-2t} \sqrt{t} dt = y' - 2y, \quad y(0) = 0$

$\leadsto y(x) = e^{2x} \int_0^x e^{-2t} z(t) dt = e^{2x} \int_0^x \left(\int_0^t e^{-2z} \sqrt{z} dz \right) dt$
 $= \phi(t)$

$\leadsto \frac{y(x)}{x e^{2x}} = \frac{1}{x} \int_0^x \phi(t) dt, \quad x > 0$

Obs: $\lim_{t \rightarrow \infty} \phi(t) = \int_0^{\infty} e^{-2z} \sqrt{z} dz = \{u=2z, du=2dz\}$
 $= \int_0^{\infty} e^{-u} \sqrt{\frac{u}{2}} \cdot \frac{du}{2} = \frac{1}{2\sqrt{2}} \int_0^{\infty} e^{-u} \sqrt{u} du \stackrel{\text{given!}}{=} \frac{\pi}{4\sqrt{2}}$

$\frac{\pi}{4\sqrt{2}} - \phi(t) = \int_t^{\infty} e^{-2z} \sqrt{z} dz \leq e^{-t} \quad \text{for } t \geq 1$
 $\leq e^{-t} \quad \forall z \geq t \geq 1$

$\leadsto \frac{y(x)}{x e^{2x}} = \frac{1}{x} \int_0^x \left(\phi(t) - \frac{\pi}{4\sqrt{2}} \right) dt + \frac{\pi}{4\sqrt{2}}$

$1 \cdot \frac{1}{x} \int_0^x \left| \phi(t) - \frac{\pi}{4\sqrt{2}} \right| dt \rightarrow 0, \quad \text{da } x \rightarrow \infty.$

$\leq \underbrace{\int_0^1}_{< \infty} + \underbrace{\int_1^{\infty} e^{-t} dt}_{< \infty}$

$\leadsto \boxed{\lim_{x \rightarrow \infty} \frac{y(x)}{x e^{2x}} = \frac{\pi}{4\sqrt{2}}}$

B. $e^{-x^2} = 1 - \frac{x^2}{2} + \frac{x^4}{24} + O(x^6), \quad \cos 2x = 1 - \frac{4x^2}{2} + \frac{16x^4}{24} + O(x^6)$
 $x \sin x = x^2 - \frac{x^4}{6} + O(x^6)$

$\leadsto e^{-x^2} - \cos 2x - x \sin 2x = 1 - \frac{x^2}{2} + \frac{x^4}{24} - (1 - 2x^2 + \frac{16}{24}x^4) - (x^2 - \frac{x^4}{6}) + O(x^6) = \left(\frac{1}{2} - \frac{16}{24} + \frac{1}{6} \right) x^4 + O(x^6) = O(x^6)$

$\leadsto \boxed{\frac{1}{x^4} (e^{-x^2} - \cos 2x - x \sin 2x) \rightarrow 0, \quad \text{da } x \rightarrow 0.}$

4. $a_n = 0$ om $n \neq 2^k$ for $n \geq 1$

$$a_{2^k} = \frac{(-1)^k}{\ln(2+n)}, \quad n \geq 1.$$

Rotkriteriet: $|a_n|^{\frac{1}{n}} = \begin{cases} 0 & n \neq 2^k \\ \frac{1}{\ln(2+n)} & n = 2^k \end{cases}$

$\leadsto$ Absolutkonvergent $\forall |x| < 1$ (Divergerer $\forall |x| > 1$)

$x = \pm 1$: $F(\pm 1) = \sum_{n=1}^{\infty} \frac{(-1)^k}{\ln(2+n)}$

betinget konvergent (Leibniz)
for $x = \pm 1$

5. $y_{n+1}(x) - y_n(x) = \frac{1}{1+n^2 x^2}, \quad y_0(x) = 0$

$\leadsto y_n(x) = \sum_{k=0}^{n-1} \frac{1}{1+(kx)^2}, \quad n \geq 1, \quad \forall x \in [0, 1].$

$\leadsto \frac{1}{n} y_n(x) = \frac{1}{n} \sum_{k=0}^{n-1} \frac{1}{1+(kx)^2}$

Obs: $x=0 \quad \frac{1}{n} y_n(0) = 1 \rightarrow 1$

$x > 0 \quad \frac{1}{n} y_n(x) \leq \frac{1}{n} \sum_{k=0}^{\infty} \frac{1}{1+(kx)^2} \rightarrow 0$
 $\leftarrow +\infty$

$\leadsto \lim_{n \rightarrow \infty} \frac{1}{n} y_n(x) = \begin{cases} 1 & x=0 \\ 0 & x \in (0, 1] \end{cases}$ kontinuerlig!

kontinuerliga
flue

$\Rightarrow$ a) Konvergens ej likformig på $[0, 1]$

b) $\frac{1}{n} y_n\left(\frac{1}{n}\right) = \frac{1}{n} \sum_{k=0}^{n-1} \frac{1}{1+\left(\frac{k}{n}\right)^2} \rightarrow \int_0^1 \frac{dx}{1+x^2} = [\arctan x]_0^1 = \frac{\pi}{4}.$
Riemannsumma!

6. $\phi_t(x) = \frac{1}{1+\sqrt{1+x}}$; $s_n(t) = \sum_{k=1}^n \phi_t(k)$, $n \geq 1$.

Obs: $\phi_t(k) \leq \int_{k-1}^k \phi_t(x) dx \leq \phi_t(k-1) \quad \forall k \geq 1$

$\leadsto s_n(t) \leq \int_0^n \phi_t(x) dx \leq \sum_{k=0}^{n-1} \phi_t(k) = 1 + s_n(t) - \phi_t(n)$

$\leadsto 0 \leq \int_0^n \phi_t(x) dx - s_n(t) \leq 1 - \phi_t(n) \leq 1 \quad \forall n \geq 1$ (*)

$= \int_0^{\infty} \frac{dx}{1+\sqrt{1+x}} = \frac{1}{t} \int_0^{\infty} \frac{dx}{1+\sqrt{1+x}}$

$\forall t > 0$

